
 

1 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

 
 

COMBINED GEOLOGY SUBORDINATE SERVICE IN EXAMINATION – 18/08/2023 
 

Computer Based Test 
 

1. What is the period for the 14th Finance Commission has made its recommendations? 
a. 2013-2018   b. 2015-2020   c. 2014-2019 
d. 2012-2017   e. Answer not known 
ve;j fhyfl;lj;jpw;fhd ghpe;Jiufis 14tJ epjpf;FO Kd;itj;jJ? 
a. 2013-2018   b. 2015-2020   c. 2014-2019 
d. 2012-2017   e. tpil njhpatpy;iy  
 

2. In the below schemes, which is related to improve the nutritional and health status of 
the children in the age group 0-6 years 
a. Integrated Child Development Scheme 
b. National Rural Employment Programme 
c. Nutrition Programme 
d. Mahatma Gandhi Rural Employment Guarantee Scheme 
e. Answer not known 
gpd;tUk; jpl;lq;fspy; vJ 0-6 taJ Foe;ijfspd; Cl;lrj;J kw;Wk; Rfhjhu epiyia 
Nkk;gLj;JtJ njhlh;ghdJ? 
a. xUq;fpize;j Foe;ijfs; tsh;r;rpj; jpl;lk; 
b. Njrpa Cuf Ntiy tha;g;Gj; jpl;lk; 
c. Cl;lr;rj;J toq;Fk; jpl;lk; 
d. kfhj;kh fhe;jp Cuf Ntiy cWjpj; jpl;lk; 

 e. tpil njhpatpy;iy 
 

3. The Rural Infrastructure Development Fund (RIDF) was setup under 
a. RBI    b. NABARD   c. SIDBI 
d. IDBI   e. Answer not known  
fpuhkGw cs;fl;likg;G Kd;Ndw;wk; epjp ____ fPo; cUthf;fg;gl;lJ. 
a. ,e;jpa hprh;t; tq;fp b. ehghh;L   c. rpl;gp 
d. IbgpI   e. tpil njhpatpy;iy 
 

4. The main objectives of monetary policy are 
1) Exchange rate stability 
2) Economic growth 
3) Disequilibrium in the balance of payments 
4) Neutrality of money 
Which of the above is correct statement? 
a. (1) and (2)   b. (2) and (3)   c. (1), (2) and (4) 
d. (3) and (4)   e. Answer not known 
gztpay; nfhs;ifapd; Kf;fpa Fwpf;Nfhs;fs; 
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1. ghpth;j;jid tpfpjj;jpy; epiyj; jd;ik 
2. nghUshjhu tsh;r;rp 
3. nrYj;J rkepiyapy; rkdw;w epiyia NgZjy; 
4. gzj;jpwd; eLepiyj; jd;ik 
Nkw;fz;ltw;wpy; vJ rhpahd tpil? 
a. (1) kw;Wk; (2)  b. (2) kw;Wk; (3)  c. (1)> (2) kw;Wk; (4) 
d. (3) kw;Wk; (4)  e. tpil njhpatpy;iy 
 

5. Mahalanobis four sector model was applied for which of the following Five Year Plan? 
a. First    b. Second   c. Third 
d. Fourth    e. Answer not known 
k`yNdhgp]; ehd;F Jiw khjphp gpd;tUk; ve;j Ie;jhz;L jpl;lj;jpy; 
gad;gLj;jg;gl;lJ? 
a. KjyhtJ   b. ,uz;lhtJ   c. %d;whtJ 
d. ehd;fhtJ   e. tpil njhpatpy;iy 
 

6. Garibi Hatao and ‘growth with social Justice’ related to which five year Plan in India? 
a. Fifth Five Year Plan    b. Fourth Five Year Plan 
c. Third Five Year Plan    d. Second Five Year Plan 
e. Answer not known 
‘fhpgp fl;lhNfh> (tWik xopg;G) kw;Wk; ‘r%f ePjpAld; tsh;r;rp’ vd;gJ ,e;jpahtpd; 
ve;j Ie;jhz;Lj; jpl;lj;Jld; njhlh;GilaJ? 
a. Ie;jhtJ Ie;jhz;Lj; jpl;lk;   b. ehd;fhtJ Ie;jhz;Lj; jpl;lk; 
c. %d;whtJ Ie;jhz;Lj; jpl;lk;   d. ,uz;lhtJ Ie;jhz;Lj; jpl;lk; 
e. tpil njhpatpy;iy 
 

7. Major issues in Information Technology Sector consists of the followings  
(i) Infrastructure and services 
(ii) Electronic governance 
(iii) Education 
(iv) Mass campaign for IT awareness 
a. (i) and (ii) only  b. (i) and (iv) only  c. (i), (ii) and (iii) only 

d. (i), (ii), (iii) and (iv) e. Answer not known 
jfty; njhopy;El;g Jiwapd; Kf;fpa rpf;fy;fs; gpd;tUtdtw;iwf; nfhz;Ls;sJ. 
(i) cs;fl;likg;G kw;Wk; Nritfs; 
(ii) kpd;dZ eph;thfk; 
(iii) fy;tp 
(iv) jfty; njhopy; El;gj;jpw;fhd tpopg;Gzh;T ntF[d gpur;rhuk; 
a. (i) kw;Wk; (ii) kl;Lk; b. (i) kw;Wk; (iv) kl;Lk; c. (i), (ii) kw;Wk; (iii) kl;Lk; 
d. (i), (ii), (iii) kw;Wk; (iv) e. tpil njhpatpy;iy 
 

8. Which one of the statement is correct? 
(i) Humayun Nama compiled by Gulbadan Begum 
(ii) Baduni translated the Bagavatha purana into Persian 
(iii) Todarmal translated the Bagavatha purana into Persian 
(iv) Haji Ibrahim Sir hindi translated Atharvaveda 
a. (i), (ii), (iii) are correct (iv) only incorrect 
b. (i), (iii), (iv) are correct (ii) only incorrect 
c. (i), (ii), (iv) are correct (iii) only incorrect 
d. All are correct 
e. Answer not known 
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fPo;fz;l $w;Wfspy; rhpahd $w;W vJ? 
i) `_khAd; ehkh it njhFj;jth; Fy;gjd; Ngfk; 
ii) gJdp gftj Guhzj;ij ghurPf nkhopapy; nkhopngah;j;jhh; 
iii) njhlh;khy; gftj Guhzj;ij ghurPf nkhopapy; nkhopngah;j;jhh; 
iv) `[p ,g;uhfpk; rh; ,e;jp mjh;t Ntjj;ij nkhopngah;j;jhh; 
a. (i), (ii), (iii) rhpahdJ (iv) jtwhdJ 
b. (i), (iii), (iv) rhpahdJ (ii) kl;Lk; jtwhdJ 
c. (i), (ii), (iv) rhpahdJ (iii) kl;Lk; jtwhdJ 
d. midj;Jk; rhpahdJ 
e. tpil njhpatpy;iy 
 

9. Assertion [A]: Firoz Shah Tughlaq did not levy Jizya tax. 
Reason [R]:  His influential Minister Khan-i-Jahan Maqbul was a converted 
    Hindu. 
a. Both [A] and [R] are true, and [R] is the correct explanation of [A]. 
b. Both [A] and [R] are true but [R] is not a correct explanation of [A]. 
c. [A] is true but [R] is false 
d. [A] is false but [R] is true 
e. Answer not known 
$w;W [A]: Ry;jhd; ngNuh~h Jf;sf; ‘[p~pah’ thpia tpjpf;ftpy;iy 
fhuzk; [R]: mtuJ Gfo; ngw;w mikr;rh fhd;-<-[fhd; kf;G+y; kjk;khwpa xU ,e;J 
   Mthh;. 
a. [A] kw;Wk; [R] rhpahdJ NkYk; [R] MdJ [A] -f;fhd rhpahd tpsf;fkhFk;. 
b. [A] kw;Wk; [R] rhpahdJ NkYk; [R] MdJ> [A] -f;fhd rhpahd tpsf;fky;y 
c. [A] rhpahdJ Mdhy; [R] jtwhdJ 
d. [A] jtwhdJ Mdhy; [R] rhp 
e. tpil njhpatpy;iy 
 

10. Which one of the following is incorrectly paired? 
Folk dance   State 
a. Karama  - Bihar 
b. Kathi  - Bengal 
c. Maya Shavari - Orissa 
d. Natha Ras  - Assam 
e. Answer not known 
gpd;tUtdtw;Ws; jtwhd nghUj;jk; vJ? 
fpuhkpa ehl;bak;  khepyk; 
a. fukh  - gPfhh; 
b. fhjp   - tq;fhsk; 
c. kharthhp  - xhprh 
d. ehjhu~;  - m];]hk; 
e. tpil njhpatpy;iy 
 

11. Match correctly the Folk dramas with their corresponding states. 
A. Kathakali  1. Bengal 
B. Yatra  2. Maharashtra 
C. Ainkiya Nat 3. Kerala 
D. Tamasha  4. Assam 
 A B C D 
a. 1 2 3 4 
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b. 1 2 4 3 
c. 2 4 1 3 
d. 2 4 3 1 
e. Answer not known 
ehl;Lg;Gw ehlfq;fis chpa khepyq;fNshL nghUj;Jf. 
A. fjfsp  1. tq;fhsk; 
B. ahj;uh  2. kfhuh~;buk; 
C. mq;fPa ehl; 3. Nfush 
D. jkh]h  4. m];]hk; 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 4 1 3 
d. 2 4 3 1 
e. tpil njhpatpy;iy 
 

12. During Mughal rule ____ were the assistants of Subhadar in the maintenance of peace. 
a. Amin   b. Diwan   c. Kotwal 
d. Faujdar   e. Answer not known 
Kfyhah; Ml;rpapy; mikjpiag; NgZtjpy; RNgjhUf;F cjtpahsuhf ____ ,Ug;gh;. 
a. mkPd;   b. jpthd;   c. nfhj;thy; 
d. /gT[;jhh;   e. tpil njhpatpy;iy 
 

13. Select the order which gives the correct chronological order of the Gupta Emperors. 
1. Kumaragupta 
2. Samudragupta 
3. Ghatotkachagupta 
4. Skandagupta 
a. 3, 2, 1, 4   b. 1, 3, 2, 4   c. 1, 2, 3, 4 
d. 4, 3, 2, 1   e. Answer not known 
gpd;tUk; gl;baypy; Fg;j kd;dh;fspd; rpyuJ ngah;fs; nfhlf;fg;gl;Ls;sd mth;fspd; 
Ml;rpf;fhy mbg;gilapy; rhpahd thpiriaf; fhz;f. 
1. FkhuFg;jh; 
2. rKj;jpuFg;jh; 
3. fNlhfr;rFg;jh; 
4. ];fe;jFg;jh; 
a. 3, 2, 1, 4   b. 1, 3, 2, 4   c. 1, 2, 3, 4 
d. 4, 3, 2, 1   e. tpil njhpatpy;iy 
 

14. India earned the titled called ‘Ethnological Museum’ because 
a. Multi-racial society    b. Multi-linguistic society 
c. Multi-religious society    d. Multi-cultural society 
e. Answer not known 
,e;jpah “,dtpay; G+q;fh” vd;w ngahpid Vd; ngw;Ws;sJ? 
a. gd;Kf ,dr;r%fk;    b. gd;Kf nkhopr;r%fk; 
c. gd;Kf kjr;r%fk;     d. gd;Kf fyhr;rhur;r%fk; 
e. tpil njhpatpy;iy 
 

15. Ala-ud-din Hasan Shah was succeeded by 
a. Muhammad Shah I  b. Ahmad Shah  c. Firoz Shah 
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d. Jafar Khan Ala-ud-din II  e. Answer not known 
myhTjPd; `rd; ~hTf;F gpd; gjtpf;F te;jth; 
a. Kjyhk; KfkJ ~h   b. mfkJ ~h   c. /gpNuh]; ~h 
d. [hgh; fhd; ,uz;lhk; myhTjpd; e. tpil njhpatpy;iy 
 

16. Consider the statement about collective responsibility, choose the correct answer from 
the options given below : 
Assertion [A]: Collective responsibility, in “Parliamentary Democracy” is to make 
    whole body and persons holding Ministerial office collectively, 
    rather than individually. 
Reason [R]:  Collective responsibility implies consensus building machine 
    among ministers 
a. [A] is true [R] is wrong 
b. [A] is false [R] is true 
c. [A] and [R] are true, [R] is the correct explanation of [A] 
d. Both [A] and [R] are true, but [R] is not correct explanation of [A]. 
e. Answer not known 
“$l;Lg; nghWg;Gilik” gw;wpa fPo;tUk; $w;Wf;fisf; fUJf> mtw;wpypUe;J rhpahd 
tpUg;g tpiliaj; njhpT nra;f. 
JzpG [A]:  ghuhSkd;wf; Fbahl;rpapd; $l;Lg; nghWg;ghdJ> vt;nthU 
    jdpkdpjidAk; nghWg;ghf;fhJ mikr;ruitapy; cs;s 
    midtiuAk; nghWg;ghf;FfpwJ. 
fhuzk; [R]:  “$l;Lg; nghWg;G” vd;gJ mikr;rh;fspilNa xUkpj;j fUj;ij 
    cUthf;Fk; mikg;igf; Fwpf;fpwJ. 
a. [A] vd;gJ cz;ik [R] vd;gJ jtW 
b. [A] vd;gJ jtW [R] vd;gJ rhp 
c. [A] kw;Wk; [R] vd;w ,uz;Lk; rhp> [R] vd;gJ [A] f;Fr; rhpahd tpsf;fkhFk;. 
d. [A] kw;Wk; [R] vd;w ,uz;Lk; cz;ik> Mdhy; [A] f;F [R] rhpahd tpsf;fkhfhJ. 
e. tpil njhpatpy;iy 
 

17. Match the following: 
Case law    Subject 
A. Bandhu Mukti   1. The difference between Article 32 and Article 226  

Morcha Vs Union of India     Explained 
B. Salem Advocate Bar   2. Environmental Direction Issued 

Association Vs Union of India      
C. M.C. Metha Vs Union of India 3. Speedy Trial applies to civil matters 
D. Smt. Poonam Vs Sumit Tanwar 4. Health environment included in Right to life 
 A B C D 
a. 3 2 1 4 
b. 2 1 3 4 
c. 4 3 2 1 
d. 1 2 3 4 
e. Answer not known 
fPo;fz;ltw;iwg; nghUj;Jf 
tof;fhw;Wr; rl;lk;   nghUs; 
A. ge;Jfh Kj;jp Nkhh;rh vjph; 1. rl;lcWg;G 32 kw;Wk; rl;lcWg;G 226-f;F 
  ,e;jpa xd;wpak;   ,ilNaAs;s NtWghl;il tpsf;Fjy; 
B. Nryk; tof;fwpQh;fs; rq;fk; 2. Rw;Wr;#oy; topfhl;Ljy; cj;juT toq;fg;gl;lJ 
   vjph; ,e;jpa xd;wpak; 
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C. M.C. Nkj;jh vjph; ,e;jpa  3. tof;if tpiue;J elj;JtJ rptpy; tof;fpw;Fk; 
  xd;wpak;    nghUe;Jk; 
D. jpUkjp. G+dk; vjph; Rkpj; 4. MNuhf;fpakhd Rw;Wr;#oy; tho;ThpikAld; 
      jd;thh;    ,izf;fg;gl;lJ 
 A B C D 
a. 3 2 1 4 
b. 2 1 3 4 
c. 4 3 2 1 
d. 1 2 3 4 
e. tpil njhpatpy;iy 

 
18. Match correctly the Committees with the year of their set up 

A. Balwantrai Mehta Committee  1. 1977 
B. Ashok Mehta Committee  2. 1985 
C. L.M. Singvi Committee   3. 1986 
D. G.V.K. Rao Committee   4. 1957 
 A B C D 
a. 4 1 3 2 
b. 2 3 1 4 
c. 4 1 2 3 
d. 2 1 3 4 
e. Answer not known 
FOf;fs; mikf;fg;gl;l Mz;NlhL nghUj;Jf. 
A. gy;te;j;uha; Nkj;jh FO   1. 1977 

B. mNrhf; Nkj;jh FO   2. 1985 
C. L.M. rpq;tp FO    3. 1986 
D. G.V.K. uht; FO    4. 1957 
 A B C D 
a. 4 1 3 2 
b. 2 3 1 4 
c. 4 1 2 3 
d. 2 1 3 4 
e. tpil njhpatpy;iy 
 

19. Which of the following statements are true about biogas plant? 
1. Difficult to handle the effluent slurry 
2. Gas forming methanogenic bacterias are sensitive 
3. Easy to handle the gas collection 
4. pH plays major role 
a. 1, 3, 4   b. 1, 2, 4   c. 2, 3, 4 
d. 1, 2, 3   e. Answer not known 
fPo;fz;l nrhw;nwhlh;fspy; caph; thA MiyAld; njhlh;GilaJ 
1. fopTf; Fok;ig ifahStJ fbdk; 
2. thA cUthf;Fk; nkjNdhn[dpf; ghf;bhpah jPtpukhdJ 
3. thA Nrfhpg;G vspjhdJ 
4. pH Kf;fpa gq;F tfpf;fpwJ 
a. 1, 3, 4   b. 1, 2, 4   c. 2, 3, 4 
d. 1, 2, 3   e. tpil njhpatpy;iy 
 

20. Which of the following is true about the Lok Sabha? 
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(i) Lok Sabha is commonly known as Lower House of the Indian Parliament. 
(ii) Members of Lok Sabha are directly elected by the people. 
(iii) 44th Amendment Act increased the number of Lok Sabha members to 545 
a. (i) only   b. (ii) only   c. (iii) only 
d. (i) and (ii) only  e. Answer not known 
kf;fsitiag; gw;wpf; fPo;tUtdtw;Ws; vJ/vit rhpahdJ/rhpahdit? 
(i) kf;fsit nghJthf ,e;jpag; ghuhSkd;wj;jpd; fPoit vd;W miof;fg;gLfpwJ. 
(ii) kf;fsit cWg;gpdh;fs; Neubahf kf;fshy; Njh;e;njLf;fg;gLfpwhh;fs;. 
(iii) 44tJ rl;ljpUj;jj;jhy; kf;fsit cWg;gpdh;fspd; vz;zpf;ifia 545 Mf 

cah;j;jpaJ. 
a. (i) kl;Lk;    b. (ii) kl;Lk;  c. (iii) kl;Lk; 
d. (i) kw;Wk; (ii) Mfpait  e. tpil njhpatpy;iy 
 

21. Which of the following statements are true about the Cabinet? 
(i) Cabinet system enforces responsibility of the executive to the Legislation. 
(ii) Cabinet consists of the Prime Minister and his/her senior ministers with 

important portfolio 
(iii) The head of the Cabinet is the Prime Minister 
a. (i) only   b. (i) and (ii) only   c. (i) and (iii) only 
d. (i), (ii) and (iii)  e. Answer not known 
fPo;tUtdtw;Ws; vJ/vit Nfgpdl;ilf; Fwpj;J cz;ikahdJ/cz;ikahdit? 
(i) rl;lkd;wj;jpw;F eph;thfpfspd; nghWg;gpidf; Nfgpdl; mikg;G typAWj;JfpwJ. 
(ii) Nfgpdl; vd;gJ gpujk ke;jphp kw;Wk; Kf;fpakhd Jiwfisf; nfhz;l %j;j 

mikr;rh;fisf; nfhz;ljhFk;. 
(iii) gpujk ke;jphp Nfgpdl;bd; jiyth; Mthh;. 
a. (i) kl;Lk;      b. (i) kw;Wk; (ii) Mfpad kl;Lk; 
c. (i) kw;Wk; (iii) Mfpad kl;Lk;   d. (i), (ii) kw;Wk; (iii) Mfpait 
e. tpil njhpatpy;iy 
 

22. Which of the following are incorrectly paired? 
1. Ashok Mehta Committee  - Social Audit 
2. Balwant Rai Mehta Committee - 3 tier system of PRI 
3. L.M. Singhvi Committee  - District Collector to be the Chairman of 

        Zila Parishad 
4. G.V.K. Rao Committee   - Abolition of the post of District 

        Development Commissioner 
a. 1 and 3 only  b. 1 and 2 only  c. 2 and 3 only 
d. 3 and 4 only  e. Answer not known 
gpd;tUtdtw;Ws; vit jtwhfg; nghUj;jg;gl;Ls;sd? 
1. mNrhf; Nkj;jh FO  - r%fj; jzpf;if 
2. gy;te;j;uha; Nkj;jh FO  - 3 mLf;F gQ;rhaj;J uh[; 
3. vy;.vk;. rpq;tp FO  - khtl;l Cuhl;rp kd;wj; jiytuhf khtl;l 
       Ml;rpah; ,Uf;f Ntz;Lk; vd;W ghpe;Jiu 
       nra;jJ 
4. [p.tp.Nf. uht; FO  - khtl;l Nkk;ghl;L Mizah; vd;w gjtpia 
       ePf;Fjy; 
a. 1 kw;Wk; 3 Mfpad kl;Lk;    b. 1 kw;Wk; 2 Mfpad kl;Lk; 
c. 2 kw;Wk; 3 Mfpad kl;Lk;    d. 3 kw;Wk; 4 Mfpad kl;Lk; 
e. tpil njhpatpy;iy 
 

23. “Ralegan Siddhi” a famous place in India is well known for elimination of the evil of  
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a. Poverty in Rural Area     b. Corruption in Administration 
c. Criminalisation of Politics    d. Human Rights Violations 
e. Answer not known 
,e;jpahtpy; “uNyfhd; rpj;jp” vd;w ,lk; ,e;jf; nfhLikia xopg;gjw;fhfg; 
Gfo;ngw;wJ. 
a. fpuhkg; Gwq;fspy; tWik xopg;G   b. eph;thfj;jpy; ,Uf;Fk; Coy; 
c. murpay; fphpkpdy;fs; kakhtJ    d. kdpj chpik kPwy;fs; 
e. tpil njhpatpy;iy 
 

24. In India, 59 per cent of the land mass is susceptible to seismic hazard; 5 percent of the 
total geographical area is prone to floods; 8 percent of the total landmass is prone to 
cyclones; what percent of the total cultivable area is vulnerable to drought? 
a. 72%  b. 68% c. 70%  d. 65%  e. Answer not known 
,e;jpahtpy;> 59 rjtPj epyg;gug;G epy mjph;T mghaj;jpw;F MshfpwJ; nkhj;jg; 
Gtpapay; gFjpapy; 5 rjtpfpjk; nts;sj;jhy; ghjpf;fg;gLk;; nkhj;j epyg;gug;gpy; 8 
rjtpfpjk; #whtspf;F MshfpwJ. Nkhj;jr; rhFgb gug;gpy; vj;jid rjtPjk; twl;rpahy; 
ghjpf;fg;gLk;? 
a. 72%  b. 68% c. 70%  d. 65%  e. tpil njhpatpy;iy 
 

25. The term ‘Operation Flood’ is related to 
a. Green Revolution   b. White Revolution c. Blue Revolution 
d. Poly House Revolution  e. Answer not known 
Mg;gNu~d; /g;sl; vDk; thh;j;ij> ,jDld; njhlh;GilaJ 
a. gRik Gul;rp   b. nts;is Gul;rp  c. ePy Gul;rp 
d. ghyp tPL Gul;rp   e. tpil njhpatpy;iy 
 

26. Cotton cultivation predominates in Regur Region of North West India. The Narmada, 
Tapi, Purna and Sabarmati River Valley region are basically heartland of cotton 
cultivation. It always associated with one food grain cultivation refereably jowar, Bajra 
and oil seeds. 
Which one of the following is best implied in the passage? 
a. Black Soil is favour for cotton cultivation 
b. Cotton is the commercial crop 
c. Cotton cultivation mostly in North West India 
d. Cotton always associated with food grain 
e. Answer not known 
tl Nkw;F ,e;jpahtpd; nuFh; gFjpapy; gUj;jp rhFgb Mjpf;fk; nrYj;JfpwJ. eh;kjh> 
jhgp> G+h;zh> rgh;kjp Mw;Wg; gs;sj;jhf;Ffs; gUj;jp rhFgbapd; ikag; gFjpfshFk;. 
,J ngUk;ghYk; VNjDk; xU czTg; gapUf;F ,izahfr; rhFgbapy; 
Kd;Dhpikiag; ngWfpwJ. mit KiwNa N[hth;> g[;uh kw;Wk; vz;nza; tpj;Jf;fs;. 
gpd;tUtdtw;wpy; vJ rpwg;ghff; Fwpg;gplg;gl;Ls;sJ? 
a. fUg;G kz; gUj;jp tpisr;rYf;F Vw;wJ 
b. gUj;jp xU thzpgg;gaph; 
c. gUj;jp ngUk;ghYk; tlNkw;F ,e;jpahtpy; gaphplg;gLfpwJ 
d. gUj;jp ngUk;ghYk; VNjDk; xU czTg; gaphpLjYf;F ,izahdJ 
e. tpil njhpatpy;iy 
 

27. Which river is called the sorrow of Bihar? 
a. Kosi   b. Sharavati    c. Narmada 
d. Tapti   e. Answer not known 
gPfhhpd; Jauk; vd;W miof;fg;gLk; MW vJ? 
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a. Nfhrp    b. rhuhtjp   c. eh;kjh 
d. jgjp    e. tpil njhpatpy;iy 
 

28. Clear sky, pleasant weather, low temperature and humidity, high range of temperature, 
cool and slow northern winds are the chief characteristics of ______ season. 
a. South West monsoon  b. North East monsoon  c. Winter season 
d. Summer season   e. Answer not known 
njspthd thdk;> ,dpikahd thdpiy> Fiwe;j ntg;gk; kw;Wk; <ug;gjepiy> mjpf 
ntg;gepiy tPr;R> Fsph;e;j kw;Wk; nkJthd tlf;F fhw;Wfs;> ,itnay;yhk; ___ 
gUtj;jpd; Kf;fpakhd Fzq;fshFk;. 
a. njd; Nkw;F gUtkio  b. tl fpof;F gUtkio  c. Fsph;fhyk; 
d. Ntdpw;fhyk;   e. tpil njhpatpy;iy 
 

29. Identify the Constitutional Amendment Act that reduced the age of voting from 21 
years to 18 years? 
a. 60th Amendment Act  b. 61st Amendment Act c. 62nd Amendment Act 
d. 63rd Amendment Act  e. Answer not known 
thf;fspf;Fk; taij 21 ypUe;J 18 Mf Fiwj;j murpayikg;Gj; jpUj;jr; rl;lj;ij 
milahsk; fhz;f. 
a. 60tJ murpayikg;Gj; jpUj;jr; rl;lk;  
b. 61tJ murpayikg;Gj; jpUj;jr; rl;lk; 
c. 62tJ murpayikg;Gj; jpUj;jr; rl;lk; 
d. 63tJ murpayikg;Gj; jpUj;jr; rl;lk; 
e. tpil njhpatpy;iy 
 

30. Autobiography of “Fall of Sparrow” was written by 
a. Vineetha Menon   b. Balachandran  c. Laxmikanth 
d. Salim Ali    e. Answer not known 
“rpl;Lf;FUtpapd; tPo;r;rp” vd;w Rarhpijia vOjpath; 
a. tpdpjh Nkdd;   b. ghyre;jpud;  c. y~;kpfhe;j; 
d. ryPk; myp    e. tpil njhpatpy;iy 
 

31. National Anti Doping Agency (NADA) was setup in the year 
a. 2007 b. 2009 c. 2011  d. 2013 e. Answer not known 
Njrpa Cf;fkUe;J (NADA) vjph;g;G epWtdk; epWtg;gl;l Mz;L 
a. 2007 b. 2009 c. 2011  d. 2013 e. tpil njhpatpy;iy 
 

32. Goa celebrated its 60th Liberation Day on 
a. December 2018   b. December 2019  c. December 2020 
d. December 2022   e. Answer not known 
Nfhth jdJ ’60-tJ tpLjiy ehis’ vg;NghJ nfhz;lhbaJ? 
a. brk;gh; 2018   b. brk;gh; 2019  c. brk;gh; 2020 
d. brk;gh; 2022   e. tpil njhpatpy;iy 
 

33. ____ became the 23rd state of the Indian Union in February 1987. 
a. Mizoram    b. Odisha   c. Punjab 
d. Uttarkhand   e. Answer not known 
_____ gFjp gpguthp 1987Mk; Mz;L ,e;jpa A+dpad; 23-tJ khepykhf;fg;gl;lJ. 
a. kpNrhuk;    b. xbrh   c. gQ;rhg; 
d. cj;uhfhd;l;   e. tpil njhpatpy;iy 
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34. In which year was the word “Corona virus” used in the scientific journal “Nature”? 
a. 1978 b. 1986 c. 1968  d. 1966 e. Answer not known 
fNuhdh itu]; vd;w nrhy; Kjd; Kjypy; “Ner;rh;” mwptpay; Ma;tpjopy; ntspapl;l 
Mz;L vJ? 
a. 1978 b. 1986 c. 1968  d. 1966 e. tpil njhpatpy;iy 
 

35. India launched its 41st Scientific Expedition to Antarctica in the year 
a. 2019 b. 2020 c. 2021  d. 2022 e. Answer not known 
mz;lhh;bf;fhtpw;fhd 41tJ mwptpay; rhh;e;j gazj;ij ,e;jpah ____ y; Jtf;fpaJ. 
a. 2019 b. 2020 c. 2021  d. 2022 e. tpil njhpatpy;iy 
 

36. Which gas is maximum available in Sun? 
a. Hydrogen   b. Oxygen   c. Helium 
d. Nitrogen   e. Answer not known 
#hpadpy; ve;j thA mjpfkhf cs;sJ? 
a. i`l;u[d;   b. Mf;rp[d;   c. `Pypak; 
d. iel;u[d;   e. tpil njhpatpy;iy 
 

37. In meiosis, recombination occurs in 
a. Metaphase I  b. Prophase I   c. Metaphase II 
d. Prophase II  e. Answer not known 
kpahrp]; gFg;gpy; kWNrh;f;if eilngWk; epiy 
a. ikaepiy I  b. Kjy; epiy I  c. ika epiy II 
d. Kjy; epiy II  e. tpil njhpatpy;iy 
 

38. Identify the characteristic which is not associated with scientific attitude? 
a. Critical observation b. open mindedness  c. free from superstition 
d. biased   e. Answer not known 
tpQ;Qhd mZFKiwAld; njhlh;GgLj;jg;glhj gz;ig milahsk; fhz;f  
a. tpkh;rd cw;WNehf;fy;     b. jpwe;j kdg;ghd;ik  
c. %l ek;gpf;ifapypUe;J tpLgl;bUj;jy;   d. gf;fr;rhh;ghd 
e. tpil njhpatpy;iy 
 

39. Duplication of mitochondrial DNA takes place during 
a. G1 – phase   b. S – phase   c. G2 – phase 

d. G0 – state   e. Answer not known 
ve;j epiyapy; ikl;Nlhfhz;bhpahtpd; DNA ,ul;bf;fpd;wJ 
a. G1 – epiy   b. S – epiy   c. G2 – epiy 
d. G0 – epiy   e. tpil njhpatpy;iy 
 

40. Individuals with ____ blood group is called universal Donor. 
a. AB  b. O  c. A  d. B  e. Answer not known 
_____ vd;w FUjp gphptpidr; rhh;e;jth; cyf FUjp nfhilahsh; vd;W miof;fg;gLth;. 
a. AB  b. O  c. A  d. B  e. tpil njhpatpy;iy 
 

41. National Fossil Wood Park in Tamilnadu is located in 
a. Villupuram   b. Madurai   c. Tirunelveli 
d. Tuticorin   e. Answer not known 
jkpo;ehl;by; Njrpa njhy;Yaph;gbk ku G+q;fh ,q;F mike;Js;sJ. 
a. tpOg;Guk;   b. kJiu   c. jpUney;Ntyp 
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d. J}j;Jf;Fb  e. tpil njhpatpy;iy 
 

42. The element needed to increase the straw of cereal crops is 
a. Nitrogen   b. Phosphorous  c. Calcium 
d. Iron    e. Answer not known 
jhdpag; gaph;fspy; itf;Nfhy; ,ioapid mjpfg;gLj;j Njitg;gLk; jdpkk; ____ MFk;. 
a. iel;u[d;   b. gh];gu];   c. fhy;rpak; 
d. ,Uk;G   e. tpil njhpatpy;iy 
 

43. Which of the following are the primary colours in a Colour TV system? 
a. Blue, Green, Yellow    b. Yellow, Green, Violet 
c. Red, Yellow, Violet    d. Red, Green, Yellow 
e. Answer not known 
fPo;f;fz;ltw;Ws;> tz;zj; njhiyf;fhl;rp mikg;gpd;> Kjd;ik epwq;fs; ahit? 
a. ePyk;> gr;ir> kQ;rs;    b. kQ;rs;> gr;ir> Cjh 
c. rptg;G> kQ;rs;> Cjh    d. rptg;G> gr;ir> kQ;rs; 
e. tpil njhpatpy;iy 
 

44. Assertion [A]: Macaulay argued for Western education in the English language. 
Reason [R]: Macaulay intension was to educate the people of India not in 

Sanskrit or Persian language. 
a. [A] is correct but [R] does not explain [A] 
b. [A] is correct and [R] is incorrect 
c. [A] is correct and [R] is a correct explanation of [A] 
d. Both [A] and [R] are wrong 
e. Answer not known 
$w;W [A]: nkf;fhNy jdJ Fwpg;Gfspy; Mq;fpy topapy; Nkw;fj;jpaf; fy;tp 
   fw;gpf;fg;gLtjw;F Mjuthf thjpl;lhh;. 
fhuzk; [R]: nkf;fhNy> ,e;jpah;fSf;F rk];fpUjj;jpYk;> ghurPf nkhopapYk; fy;tp 
   Gfl;l $lhJ vd;w vz;zk; nfhz;bUe;jhh;. 
a. $w;W rhp; Mdhy; fhuzk; $w;iw tpsf;ftpy;iy 

b. $w;W rhp; fhuzk; jtW 
c. $w;W rhp; fhuzk; $w;iw rhpahf tpsf;FfpwJ 
d. $w;W fhuzk; ,uz;Lk; jtW 
e. tpil njhpatpy;iy 
 

45. Whose writings inspired Gandhi, for the Civil Disobedience Movement in South Africa. 
a. Henry David Thoreau  b. David Ricordo  c. Leo Tolstoy 
d. Bertrand Russell   e. Answer not known 
njd; Mg;gphpf;fhtpy; fhe;jpapd; rl;lkWg;G ,af;fj;Jf;F ahUila gilg;G cj;Ntfj;ij 
nfhLj;jJ? 
a. n`d;wp Nltpl; jhNuh  b. Nltpl; hpf;fhh;Nlh  c. ypNah lhy;];lha; 
d. ngh;l;uhz;l; u];]y;  e. tpil njhpatpy;iy 
 

46. ____ accompanied Subash Chandra Bose during his secret journey in a German U-boat 
submarine and reached South of Madagascar. 
a. Maulvi Ziauddin   b. Bhagat Ram  c. Mohan Singh 
d. Abid Hussain   e. Answer not known 
n[h;khdpa ehl;L U-tif ePh;%o;fp fg;gypy; njw;F klfh];fUf;Fr; nrd;wile;j ,ufrpa 
flw;gazj;jpy; Rgh]; re;jpu Ngh]; cld; gazpj;jth; 
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a. nksytp [pahAj;jPd;  b. gfj; uhk;   c. Nkhfd; rpq; 
d. Mgpj; `_ird;   e. tpil njhpatpy;iy 
 

47. Which among the following journal published the interview of Gandhiji on the popular 
historical event “Gandhi Jinnah Talks” that made a serious impact on society? 
a. News Chronicle of London on July 4, 1944 
b. Indian Mirror on June 30, 1944 
c. Bengal Gazatte on July 14, 1943 
d. Commonweal on June 12, 1942 
e. Answer not known 
r%fj;jpy; fLikahd jhf;fj;ij Vw;gLj;jpa tuyhw;W epfo;thd “fhe;jp [pd;dh 
Ngr;Rthh;j;ij” gw;wpa fhe;jpapd; Neh;fhziy gpd;tUk; ve;j gj;jphpf;if ntspapl;lJ? 
a. epA+]; FNuhdpf;fy;> yz;ld; [_iy 4> 1944 
b. ,e;jpad; kph;uh;> [_d; 30> 1944 
c. ngq;fhy; nfrl;> [_iy 14> 1943 
d. fhkd;tPy;> [_d; 12> 1942 
e. tpil njhpatpy;iy 

 
48. “I do not like what some people say, that we are Indians first and Hindus afterwards or 

Muslims afterwards. I am not satisfied with that… I want all people to be Indians first, 
Indians last and nothingelse but Indians” Who said this? 
a. Mahatma Gandhi      b. Maulana Abul Kalam Azad 
c. B.R. Ambedkar      d. Jawaharlal Nehru 
e. Answer not known 
“Kjypy; ehk; ,e;jpah;fs;> mjw;Fg; gpwF jhd; `pe;Jf;fs; my;yJ mjw;Fg; gpwFjhd; 
Kfkjpah;fs; vd;W xU rpyh; $WtJ vd;dhy; Vw;f Kbatpy;iy. vdf;F mjpy; 
jpUg;jpAkpy;iy. vy;NyhUNk Kjypy; ,e;jpah;fs; kw;Wk; ,Wjptiu ,e;jpah;fNs> 
,e;jpah;fisj; jtpu Ntnwhd;Wkpy;it vd;wpUf;f ehd; tpUk;GfpNwd;” vd;W $wpath; 
ahh;? 
a. kfhj;kh fhe;jp     b. nksyhdh mGy; fyhk; Mrhj; 
c. gp.Mh;. mk;Ngj;fh;     d. [t`h;yhy; NeU 
e. tpil njhpatpy;iy 
 

49. From which of the following constitution, the source of “Directive principles of state 
policy” of constitution of India, was derived   
a. Ireland    b. Iceland   c. Netherland 
d. Poland    e. Answer not known 
fPo;tUk; ve;j ehl;L murpay; mikg;gpypUe;J ,e;jpa murpay; mikg;gpy; cs;s “muR 
newpKiw Nfhl;ghL” vd;w Mjhuk; vLf;fg;gl;lJ 
a. mah;yhe;J   b. I];yhe;J   c. nejh;yhe;J 
d. Nghyhe;J   e. tpil njhpatpy;iy 
 

50. (i) When the general elections were held in February 1937, Jawaharlal Nehru made a 
whirlwind tour of the country and carried everywhere the message of the Congress. 
(ii) The success of the Congress in the elections was very much due to the efforts of 
Gandhiji. 
Which of the above statement/s is/are true? 
a. (i) only   b. (ii) only  c. (i) and (ii) only 
d. None of the above e. Answer not known 
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(i) gpg;uthp 1937 ,y; nghJj; Njh;jy; ele;jNghJ> [t`h;yhy; NeU ehL KOtJk; xU 
#whtspr; Rw;Wg;gazk; nra;J fhq;fpu]pd; nra;jpia vq;Fk; nfhz;L nrd;whh;. 
(ii) ,Ug;gpDk; Njh;jypy; fhq;fpu]pd; ntw;wpf;F fhe;jp[papd; Kaw;rpNa fhuzk; 
NkNy fhzg;gLk; $w;Wfspy; rhpahdJ/it vJ/vit? 
a. (i) kl;Lk;    b. (ii) kl;Lk;   c. (i) kw;Wk; (ii) kl;Lk; 
d. Nkw;fz;l vitAkpy;iy  e. tpil njhpatpy;iy 
 

51. Which of the following is incorrectly paired? 
1. GSDP - Gross State Domestic Product 
2. GDP - Gross Domestic Price 
3. SIPCOT - State Industrial Promotion Corporation of Tamil Nadu 
4. SEZ - Special Employment Zone 
a. 1 and 3 are correct  b. 2 and 4 are correct c. 2 and 3 are correct 
d. 3 and 4 are correct  e. Answer not known 
gpd;tUtdtw;Ws; jtwhfg; nghUe;jpAs;stw;iwj; Njh;e;njL. 
1. GSDP  – khepy nkhj;j cs;ehl;L cw;gj;jp 
2. GDP – nkhj;j cs;ehl;L tpiy 
3. SIPCOT – jkpo; ehL khepy njhopy; tsh;r;rpf; fofk; 
4. SEZ – rpwg;G Ntiytha;g;G kz;lyk; 
a. 1 kw;Wk; 3 rhp   b. 2 kw;Wk; 4 rhp  c. 2 kw;Wk; 3 rhp 
d. 3 kw;Wk; 4 rhp   e. tpil njhpatpy;iy 
 

52. Match the following. 
A. Thiru. V. Kalyanasundaram  1. National School 
B. E.V.R. Periyar    2. Saiva Siddhanta School 
C. V.V. Subramaniyam Aiyar  3. Kudi Arasu 
D. Sami Venkatachalam   4. Navasakthi 
 A B C D 
a. 4 1 2 3 
b. 1 2 3 4 
c. 3 4 2 1 
d. 4 3 1 2 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf. 
A. jpU. tp. fy;ahzRe;juk;  1. Njrpag; gs;sp 
B. <.nt.uh. nghpahh;    2. irt rpj;jhe;jg; gs;sp 

C. tp.tp. Rg;ukzpa Iah;   3. Fb muR 
D. rhkp ntq;flhryk;   4. etrf;jp 
 A B C D 
a. 4 1 2 3 
b. 1 2 3 4 
c. 3 4 2 1 
d. 4 3 1 2 
e. tpil njhpatpy;iy  
 

53. Match the following 
A. V.O. Chidambaram   1. Alagammai Asiriya Virutham 
B. Bharathi     2. Sangoli 
C. Namakkal Kavignar Ramalingam 3. Swadeshi Navigation Company 
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D. Kavimani Desiga Vinayagam  4. Bala Bharat 
 A B C D 
a. 4 2 3 1 
b. 3 4 2 1 
c. 3 2 1 4 
d. 2 1 4 3 
e. Answer not known 
fPo;f;fz;ltw;iw nghUj;Jf: 
A. t.c. rpjk;guk;    1. mofk;ik Mrphpa tpUj;jk; 
B. ghujp     2. rq;nfhyp 
C. ehkf;fy; ftpQh; ,uhkypq;fk;  3. RNjrp fg;gy; fk;ngdp 
D. ftpkzp Njrpf tpehafk;  4. ghy ghuj; 

 A B C D 
a. 4 2 3 1 
b. 3 4 2 1 
c. 3 2 1 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

54. From 1757 to 1833 India witnessed _____ 
1. Different regions in India began to draw closer. 
2. Old hierarchy of Social groups began to disintegrate 
3. The caste system tended to relax 
4. Village economy lost its character of self-sufficiency and isolation 
a. 1 only   b. 1 and 3 only   c. 2 and 4 only 
d. All the above  e. Answer not known 
fp.gp. 1757 Kjy; 1833 tiu ,e;jpahtpy; vjid fhzKbe;jJ. 
1. ,e;jpahtpd; gy;NtW gpuhe;jpaq;fs; xd;wpize;jd. 
2. r%f ,dq;fspd; gioa/goikahd kuGfs; mope;J Nghapd 
3. rhjpa Kiw jsh;e;jJ 
4. fpuhkpa nghUshjhuk; mjd; jw;rhh;G kw;Wk; jdpj;jpUf;Fk; jd;ikia ,oe;jJ. 
a. 1 kl;Lk;   b. 1 kw;Wk; 3 kl;Lk;   c. 2 kw;Wk; 4 kl;Lk; 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

55. Which songs of a particular Tinai are not found in Purananooru? 
a. Padaan Tinai  b. Kanchi Tinai  c. Vaagaith Tinai 
d. Uzhignai Tinai  e. Answer not known 
vj;jpizf;Fhpa ghly;fs; GwehD}w;wpy; ,y;iy? 
a. ghlhz; jpiz  b. fhQ;rpj; jpiz  c. thifj; jpiz 
d. copiQj; jpiz  e. tpil njhpatpy;iy 
 

56. Which archeological excavation illustrates the extent and richness of the maritime trade 
between Tamil Nadu and Rome? 
a. Keezhadi   b. Arikkamedu  c. Mauriyakudi 
d. Sengalpattu  e. Answer not known 
ve;jg; GijnghUshuha;r;rp> jkpofj;jpw;Fk; NuhkGhpf;Fk; ,ilapl;l fly; thzpfj;jpd; 
tphpitAk; tsj;ijAk; nghpJk; tpsf;fpf; fhl;;Lfpd;wJ? 
a. fPob    b. mhpf;fNkL   c. nkshpaf;Fb 
d. nrq;fy;gl;L  e. tpil njhpatpy;iy 
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57. Match the following. 
A. Ninaivuppathai   1. Aathavan 
B. Kakitha Malargal   2. Vannanilavan 
C. Thandira Bhoomi   3. Nagulan 
D. Kadalpurathil   4. Indira Parthasarathy 
 A B C D 
a. 2 4 1 3 
b. 1 4 3 2 
c. 3 1 4 2 
d. 2 4 3 1 
e. Answer not known 
fPo;fz;ltw;iw nghUj;Jf : 
A. epidTg;ghij  1. Mjtd; 
B. fhfpj kyh;fs;  2. tz;zepytd; 
C. je;jpu G+kp   3. eFyd; 
D. fly;Guj;jpy;  4. ,e;jpuh ghh;j;jrhujp 
 A B C D 
a. 2 4 1 3 
b. 1 4 3 2 
c. 3 1 4 2 
d. 2 4 3 1 
e. tpil njhpatpy;iy 
 

58. What does the following Kural depict? 
“Kudambai thaniththozhiya Pul paranthatrae” 
a. Happiness is transient  b. Youth is transient  c. Wealth is transient 
d. Life is transient   e. Answer not known 
‘Flk;ig jdpj;njhopa Gs; gw;e;jw;Nw’ vd;Dk; Fwspy; tUk; fhl;rp Gyg;gLj;JtJ vJ? 
a. kfpo;r;rp epiyapy;yhjJ     b. ,sik epiyapy;yhjJ  
c. nry;tk; epiyapy;yhjJ     d. tho;f;if epiyapy;yhjJ 
e. tpil njhpatpy;iy 
 

59. Pick out the correct pair from the following. 
1. Anbalippu    - Ku. Azhagirisamy 
2. Kadavulum Kandasamy Pillaiyum - Pudhumai Pithan 
3. Yugasanthi    - Jeyakanthan 
4. Thirudan Magan Thirudan  - Kalki 
a. 1, 3, 4 alone is correct     b. 3 and 4 alone is correct 
c. None of the above is correct    d. 1, 2, 3, 4 all are correct 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;wpy; rhpahd ,iziaj; Njh;T nra;f. 
1. md;gspg;G    - F. mofphprhkp 
2. flTSk; fe;jrhkp gps;isAk; - GJikg;gpj;jd; 
3. Afre;jp    - n[afhe;jd; 
4. jpUld; kfd; jpUld;  - fy;fp 
a. 1> 3> 4> kl;Lk; rhp  b. 3> 4 kl;Lk; rhp  c. vJTk; rhpapy;iy 
d. 1> 2> 3> 4 midj;Jk; rhp e. tpil njhpatpy;iy 
 

60. Rani Velunachiyar lived under the protection of Gopala Nayakkar at ____ near 
Dindugal. 
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a. Kannivadi   b. Thandikkudi   c. Virupachi 

d. Aayakkudi  e. Answer not known 
,uhzp NtYehr;rpahh; jpz;Lf;fy; mUNf Nfhghy ehaf;fhpd; ghJfhg;gpy; ____ vd;w 
,lj;jpy; tho;e;J te;jhh;. 
a. fd;dpthb   b. jhz;bf;Fb    c. tpUg;ghl;rp 
d. Maf;Fb   e. tpil njhpatpy;iy 
 

61. Who lived in the name of “Dharmasenar”? 
a. Thirugnana Sambanthar     b. Thirunavukkarasar  
c. Sundarar       d. Manickavasagar 
e. Answer not known 
‘jUkNrdh;’ vd;w ngaUld; tho;e;J te;jth; ahh;? 
a. jpUQhdrk;ge;jh;      b. jpUehTf;furh; 
c. Re;juh;       d. khzpf;fthrfh; 
e. tpil njhpatpy;iy 
 

62. From which book is the line “Kutram paarkin Sutram Illai” is taken? 
a. Aathi Soodi  b. Thirukkural  c. Proverb 
d. Kondraiventhan  e. Answer not known 
“Fw;wk; ghh;f;fpd; Rw;wk; ,y;iy” vd;w mb ,lk; ngw;Ws;s E}y; vJ? 
a. Mj;jp #b   b. jpUf;Fws;   c. gonkhop 
d. nfhd;iwNte;jd;  e. tpil njhpatpy;iy 
 

63. Which of the following Statements is/are not correct about Akbar? 
A. Akbar was influenced by his mother 
B. Akbar took Roopmathi from Baz Bahadur 
C. Bairam khan was killed by Akbar 
D. Akbar attacked Chitoor to get the treasure 
a. (A) and (B) are correct; (C) and (D) are wrong 
b. (B) and (D) are correct; (A) and (C) are wrong 
c. (B) and (C) are wrong; (A) and (D) are correct 
d. (A) is correct; (B), (C) and (D) are wrong 
e. Answer not known 
fPNo Fwpg;gplg;gl;ltw;wpy; mf;giu gw;wpa jtwhd fUj;J vJ? 
A. mf;gh; mtuJ jhahuhy; ftug;gl;lhh; 
B. mf;gh; &g;kjpia gh];gfJ}hplkpUe;J fth;e;jhh; 
C. iguhk;fhid mf;gh; nfhd;whh; 
D. mf;gh; rpj;J}iu nfhs;isabg;gjw;fhf gilnaLj;jhh; 
a. (A) kw;Wk; (B) rhp; (C) kw;Wk; (D) jtW 
b. (B) kw;Wk; (D) rhp; (A) kw;Wk; (C) jtW 
c. (B) kw;Wk; (C) jtW; (A) kw;Wk; (D) rhp 
d. (A) rhp; (B), (C) kw;Wk; (D) jtW 
e. tpil njhpatpy;iy 

 
64. Name the king, who introduced the Asvamedha types of Gold Coins bearing the 

figures of Lakshmi and Ganga. 
a. Samudra Gupta   b. Chandra Gupta II  c. Kumara Gupta 
d. Skanda Gupta   e. Answer not known 
ahUila Ml;rpf; fhyj;jpy; mRtNkjh tif jq;f ehzaq;fspy; yl;Rkp kw;Wk; 
fq;ifapd; cUtq;fs; nghwpf;fg;gl;L mwpKfg;gLj;jg;gl;lJ. 
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a. rKj;jpu Fg;jh   b. re;jpu Fg;jh II  c. Fkhu Fg;jh 
d. ];fe;j Fg;jh   e. tpil njhpatpy;iy 
 

65. Assertion [A]: The Small Scale Industry of India was ruined due to the attitude of 
    the Britishers. 
Reason [R]:  British Government declared the Policy of free trade in the year 
    1833. 
a. [A] is true but [R] is false 
b. Both [A] and [R] are true; and [R] is the correct explanation of [A] 
c. [A] is false, but [R] is true 
d. Both [A] and [R] are true, but [R] is not the correct explanation of [A] 
e. Answer not known 
$w;W [A]: gphpl;b~; Ml;rpahsh;fspd; mZFKiwahy; ,e;jpa rpWnjhopy; mope;jJ. 
fhuzk; [R]: 1833k; Mz;L gphpl;b~; murhq;fk; jilapy;yh thzpgf; nfhs;ifia 
   mwptpj;jJ. 
a. [A] rhp Mdhy; [R] jtW 
b. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhp kw;Wk; [R] vd;gJ [A] -tpw;F rhpahd tpsf;fkhFk;. 
c. [A] jtW Mdhy; [R] rhp 
d. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhp> Mdhy; [R] vd;gJ [A] tpw;F rhpahd tpsf;fky;y  
e. tpil njhpatpy;iy 
 

66. “Work for food” scheme implemented by Central Government in the year 1972. This 
programme yearly provides. 
I. 10,1000 tonne Wheat 
II. 60,000 tonne Rice 
III. 10 lakhs Agricultural instrument 
IV. Rs. 10 crore subsidy for marginal labour 
a. I, II  b. II, III c. III, IV d. IV, I e. Answer not known 
Ntiyf;F czTj; jpl;lk; kj;jpa murhy; 1972-y; njhlq;fg;gl;lJ. ,j;jpl;lj;jpd; 
thapyhf Mz;bw;F fpilg;gJ. 
I. 10,000 ld; NfhJikAk; 
II. 60,000 ld; mhprpAk; 
III. 10 ,yl;rk; tptrhaf; fUtpfSk; 
IV. 10 Nfhb tpspk;G epiy njhopyhsUf;F khdpak; 
a. I, II  b. II, III c. III, IV d. IV, I e. tpil njhpatpy;iy 
 

67. ‘Empowerment of Women’ policy focus/s on 
(i) Poverty Eradication 
(ii) Micro Credit 
(iii) Women and Economic development 
a. (i) only   b. (ii) only   c. (iii) only 
d. (i), (ii) and (iii)  e. Answer not known 
‘ngz;fSf;F mjpfhukspj;jy;’ nfhs;if fPo;f;fz;ltw;Ws; ftdk; nrYj;JfpwJ  
(i) tWik xopg;G 
(ii) rpwpa mstpy; fld; toq;Fjy; 
(iii) ngz;fs; kw;Wk; nghUshjhu Nkk;ghL 
a. (i) kl;Lk;    b. (ii) kl;Lk;  c. (iii) kl;Lk; 
d. (i), (ii) kw;Wk; (iii)   e. tpil njhpatpy;iy 
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68. (i) The study of the SNDP and the Yadava movements illustrate the emergence of large 
ethnic blocs on the basis of ideology through political Mobilization 
(ii) These movements had well-defined ideology on the basis of identity. 
Which of the statements is/are true? 
a. (i) only   b. (ii) only   c. (i) and (ii) 

d. None of the above e. Answer not known 
(i) SNDP kw;Wk; ahjt ,af;fq;fspd; Ma;T> murpay; mzp jpul;ly; %ykhd 
fUj;jpaypd; mbg;gilapy; nghpa ,df; FOf;fs; Njhd;wpaij tpsf;FfpwJ. 
(ii) ,e;j ,af;fq;fs; milahsj;jpd; mbg;gilapy; rpj;jhe;jj;ij ed;F 
tiuaWj;jpUe;jd. 
,f;$w;Wfspy; vJ cz;ik? 
a. (i) kl;Lk;    b. (ii) kl;Lk;   c. (i) kw;Wk; (ii) 
d. Nkw;fz;l vJTk; ,y;iy e. tpil njhpatpy;iy 
 

69. Assertion [A]: Non-Brahmins with minimum educational qualification should be 
    provided with employment opportunity and be appointed in all 
    government services. 
Reason [R]:  Communal Representation Decree was passed in the year 1921. 
a. [A] is True [R] is False 
b. Both [A] and [R] are true; and [R] is the correct explanation of [A]. 
c. [A] is False, [R] is True 
d. Both [A] and [R] are True, but [R] is not the correct explanation of [A]. 
e. Answer not known 
$w;W [A]: Fiwe;jgl;r fy;tpj jFjpAila gpuhkzh; my;yhjth;fSf;F Ntiy 
   tha;g;G toq;fg;gl Ntz;Lk; kw;Wk; midj;Jk; muRg; gzpfspYk; 
   epakpf;fg;gl Ntz;Lk;. 
fhuzk; [R]: tFg;Gthj gpujpepjpj;Jt Miz 1921,y; epiwNtw;wg;gl;lJ. 
a. [A] rhp Mdhy; [R] jtW 
b. [A] kw;Wk; [R] ,uz;Lk; rhp; NkYk; [R] vd;gJ [A]-tpw;F rhpahd tpsf;fk; 
c. [A] jtW Mdhy; [R] rhp 
d. [A] kw;Wk; [R] ,uz;Lk; rhp; Mdhy; [R] vd;gJ [A]-tpw;F rhpahd tpsf;fk; my;y 

e. tpil njhpatpy;iy 
 

70. Assertion [A]: The prime objective of the government is the overall Development 
    of the tribal community 
Reason [R]:  Proper and effective implementation of schemes is of paramount 
    importance. 
a. Both [A] and [R] are true; and [R] is the correct explanation of [A]. 
b. Both [A] and [R] are True, but [R] is not the correct explanation of [A]. 
c. [A] is True [R] is False 
d. [A] is False, [R] is True 
e. Answer not known 
$w;W [A]:  goq;Fbapdhpd; xl;Lnkhj;j tsh;r;rpNa murpd; Kjd;ikahd 
Nehf;fk; MFk;. 
fhuzk; [R]: jpl;lq;fis KiwahfTk;> jpwikahfTk; nraw;gLj;JtJ kpf 
Kf;fpakhdJ. 
a. [A] kw;Wk; [R] rhp; NkYk; [R] [A] -f;fhd rhpahd tpsf;fk; 
b. [A] kw;Wk; [R] rhp; NkYk; [R] [A]-Tf;fhd rhpahd tpsf;fk; my;y 
c. [A] rhp; Mdhy; [R] jtW 
d. [A] jtW; Mdhy; [R] rhp 
e. tpil njhpatpy;iy 
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71. Choose the wrong matches. 

1. Tamilnadu Tourism Development Corporation - 1971 
2. Make in India      - 1920 
3. Mid-day meal scheme     - 2014 
4. Old age pension      - 1983 
a. Both 1 and 2   b. only 3   c. Both 3 and 4 
d. Both 2 and 3  e. Answer not known 
fPo;fz;ltw;Ws; rhpahfg; nghUj;jg;glhjtw;iwj; Njh;e;njLf;f. 
1. jkpo;ehL Rw;Wyh tsh;r;rpf; fofk; - 1971 
2. Nkf; ,d; ,e;jpah jpl;lk;  - 1920 
3. kjpa czTj; jpl;lk;   - 2014 
4. KjpNahh; Xa;T+jpaj; jpl;lk;  - 1983 
a. 1 kw;Wk; 2  b. 3 kl;Lk;   c. 3 kw;Wk; 4 
d. 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

72. Which of the following is NOT the reason for the provision of reservation for SCs and 
STs? 
a. Right to equality   b. Right to dignity  c. Right to liberty 

d. Right to livelihood  e. Answer not known 
gl;bay; rhjpapdh; kw;Wk; goq;Fbapd kf;fSf;F ,l xJf;fPL toq;Ftjw;F 
gpd;tUtdtw;Ws; vJ fhuzk; my;y? 
a. rkj;Jtj;jpw;fhd chpik    b. khz;gpw;fhd chpik  
c. Rje;jpuj;jpw;fhd chpik     d. tho;thjhuj;jpw;fhd chpik 
e. tpil njhpatpy;iy 
 

73. Which of the following is/are true with reference to the impact of Mrs. Annie Besant’s 
efforts? 
(i) She founded the central Hindu College at Benares. 
(ii) Her paper ‘New India spread the theosophical ideas. 
a. (i) only   b. (ii) only   c. Both (i) and (ii) 
d. None of the above e. Answer not known 
fPo;f;fhz;gtw;Ws; vJ/vit md;dp ngrd;l; mk;ikahhpd; Kaw;rpapy; 
cUthdJ/cUthdit? 
(i) mth; gdhu]py; kj;jpa ,e;Jf; fy;Y}hpia epWtpdhh;. 
(ii) mtUila ‘epA+ ,e;jpah’ vDk; nra;jpj;jhs; gpuk;kQhdrigf; nfhs;iffisg; 
gug;gpaJ. 
a. (i) kl;Lk;   b. (ii) kl;Lk;   c. (i) kw;Wk; (ii) ,uz;Lk; 
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

74. In 2017 ____ district was a top rank in Gender Inequality Index of Tamil nadu. 
a. Chennai   b. Namakkal   c. Nilgiris 

d. Vellore   e. Answer not known 
2017Mk; Mz;L ____ khtl;lk; ghypd rkj;Jtkpd;ik FwpaPl;by; jkpo;ehl;by; 
Kjyplj;jpy; ,Ue;jJ. 
a. nrd;id   b. ehkf;fy;   c. ePyfphp 
d. NtY}h;   e. tpil njhpatpy;iy 
 

75. An amount of Rs. 1,000/- will be deposited in the bank accounts of girl students 
enrolled and studied in government school announced on 
a. March 16, 2022  b. March 17, 2022  c. March 18, 2022 
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d. March 19, 2022  e. Answer not known 
muRg; gs;spapy; Nrh;e;J gbf;Fk; khztpfspd; tq;fpf; fzf;fpy; &.1000 nlghrpl; 
nra;ag;gLk; vd mwptpf;fg;gl;l ehs; 
a. khh;r; 16> 2022  b. khh;r; 17> 2022  c. khh;r; 18> 2022 
d. khh;r; 19> 2022  e. tpil njhpatpy;iy 
 

76. A and B can do a piece of work in 12 days, while B and C can do it in 15 days whereas 
A and C can do it in 20 days. How long will B take to do the same work. 
a. 10 days   b. 15 days   c. 30 days 
d. 20 days   e. Answer not known 
A kw;Wk; B MfpNahh; xU Ntiyia 12 ehl;fspYk; B kw;Wk; C MfpNahh; mij 15 
ehl;fspYk; A kw;Wk; C MfpNahh; mij 20 ehl;fspYk; Kbg;gh;. B vd;gth; me;j Ntiyia 
vj;jid ehl;fspy; Kbg;ghh;? 
a. 10 ehl;fs;   b. 15 ehl;fs;   c. 30 ehl;fs; 
d. 20 ehl;fs;   e. tpil njhpatpy;iy 
 

77. The simple interest on a sum of money is 
4

9
 of the principal and the number of years is 

equal to the rate percent per annum then find the rate per annum. 

a. 
1

6 %
3

 b. 
2

6 %
3

 c. 
1

5 %
3

 d. 
2

5 %
3

 e. Answer not known 

xU njhifapd; jdptl;bahdJ mrypd; 
4

9
 MfTk; kw;Wk; mjd; fhyKk; tl;b tPjKk; 

rkk; vdpy; Mz;L tl;btPjk; ahJ? 

a. 
1

6 %
3

 b. 
2

6 %
3

 c. 
1

5 %
3

 d. 
2

5 %
3

 e. tpil njhpatpy;iy 

 
78. If the ratios formed using the numbers 2, 5, x, 20 in the same order in proportion, then 

’x’ is 
a. 50  b. 4  c. 10  d. 8  e. Answer not known 
2, 5, x, 20 Mfpa vz;fis mNj thpirapy; gad;gLj;jp mikAk; tpfpjq;fs; tpfpj 
rkkhf ,Ug;gpd; ’x’= ? 
a. 50  b. 4  c. 10  d. 8  e. tpil njhpatpy;iy 
 

79. If A = 265 and B = 264 + 263 + 262 + …. + 20 
Which of the following is true? 
a. B is 264 more than A     b. A and B are equal 
c. B is larger than A by 1     d. A is larger than B by 1 

e. Answer not known 
A = 265 kw;Wk; B = 264 + 263 + 262 + …. + 20 

vdpy; fPo;f;fz;ltw;wpy; vJ rhpahd $w;W? 
a. B MdJ A iatpl 264 mjpfk;   b. A kw;Wk; B rkk; 
c. B MdJ A ia tpl 1 mjpfk;   d. A MdJ B ia tpl 1 mjpfk; 
e. tpil njhpatpy;iy 
 

80. How many rectangles are there in standard chess board? 
a. 204  b. 240  c. 1296  d. 1290 e. Answer not known 
rJuq;fg; gyifapy; nkhj;jk; vj;jid nrt;tfq;fs; cs;sd? 
a. 204  b. 240  c. 1296  d. 1290 e. tpil njhpatpy;iy 
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81. If 48 men working 7 hours a day can do a work in 24 days then in how many days will 
28 men working 8 hours a day can complete the same work? 
a. 28 days   b. 30 days   c. 32 days 
d. 36 days   e. Answer not known 
48 Mz;fs; xU Ntiyia ehnshd;Wf;F 7 kzp Neuk; Ntiy nra;J 24 ehl;fspy; 
Kbg;gh; vdpy;> 28 Mz;fs; mNj Ntiyia ehnshd;Wf;F 8 kzp Neuk; Ntiy nra;J 
vj;jid ehl;fspy; Kbg;gh;? 
a. 28 ehl;fs;   b. 30 ehl;fs;   c. 32 ehl;fs; 
d. 36 ehl;fs;   e. tpil njhpatpy;iy 
 

82. The standard deviation of a data is 3. If each value is multiplied by 5 then find the new 
variance. 
a. 3  b. 15  c. 5  d. 225  e. Answer not known 
xU jutpd; jpl;l tpyf;fkhdJ 3. xt;nthU kjpg;igAk; 5-My;> ngUf;fpdhy; fpilf;Fk; 
Gjpa jutpd; tpyf;f th;f;fr; ruhrhpiaf; fhz;f. 
a. 3  b. 15  c. 5  d. 225  e. tpil njhpatpy;iy 
 

83. In a certain code language ‘ANIMALS’ is written as ‘SLAMINA’. How is ONLINE 
written in that code? 
a. ENILNO   b. OLINEN   c. LNOINE 
d. NNLOIE   e. Answer not known 
FwpaPl;L nkhopapy; ‘ANIMALS’ vd;gij ‘SLAMINA’ vd Fwpapl;lhy; ONLINE 
vd;gij vt;thW Fwpaplyhk;? 
a. ENILNO   b. OLINEN   c. LNOINE 
d. NNLOIE   e. tpil njhpatpy;iy 
 

84. If 5 persons can do 5 jobs in 5 days. Then 50 persons can do 50 jobs in ____ days. 
a. 1  b. 5  c. 10  d. 20  e. Answer not known 
5 egh;fs; 5 Ntiyfis 5 ehl;fspy; nra;J Kbg;gh; vdpy; 50 egh;fs; 50 Ntiyia 
______ ehl;fspy; Kbg;gh;. 
a. 1  b. 5  c. 10  d. 20  e. tpil njhpatpy;iy 
 

85. A cement factory makes 7000 cement bags in 12 days with the help of 36 machines. 
How many bags can be made in 18 days using 24 machines? 
a. 4320 b. 2880 c. 6480  d. 7000 e. Answer not known 
xU rpnkz;l; njhopw;rhiyahdJ 36 ,ae;jpuq;fspd; cjtpAld; 12 ehl;fspy; 7000 
rpnkz;l; igfis jahhpf;fpwJ. 24 ,ae;jpuq;fisg; gad;gLj;jp 18 ehl;fspy; vj;jid 
rpnkz;l; igfisj; jahhpf;fyhk;. 
a. 4320 b. 2880 c. 6480  d. 7000 e. tpil njhpatpy;iy 
 

86. A Cubical tank can hold 64,000 litres of water. Find the length of its side in metres. 
a. 64m  b. 8m  c. 4m  d. 16m  e. Answer not known 
xU fdr;rJu tbt ePh;j njhl;bahdJ 64>000 ypl;lh; ePh; nfhs;Sk; vdpy; me;jj; 
njhl;bapd; gf;fj;jpd; ePsj;ij kPl;lhpy; fhz;f. 
a. 64m  b. 8m  c. 4m  d. 16m  e. tpil njhpatpy;iy 
 

87. The ratio of the volumes of two cone is 2 : 3. Find the ratio of their radii if the height of 
second cone is double the height of the first. 

a. 2 : 3  b. 2 : 3  c. 2 :3  d. 2: 3  e. Answer not known 
,U $k;GfSila fd msTfspd; tpfpjk; 2 : 3 MFk;. ,uz;lhk; $k;gpd; cauk; 
Kjy; $k;gpd; cauj;ijg; Nghy ,Uklq;F vdpy;> mtw;wpy; Muq;fspd; tpfpjk; fhz;f. 
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a. 2 : 3  b. 2 : 3  c. 2 :3  d. 2: 3  e. tpil njhpatpy;iy 

 
88. The value of a motorcycle two years ago was Rs. 70,000. It depreciates at the rate of 4% 

p.a. Find its present value 
a. 64510   b. 64150   c. 64512 

d. 64251   e. Answer not known 
Xh; ,U rf;fu thfdj;jpd; tpiy ,uz;L Mz;LfSf;F Kd; &. 70>000 Mf ,Ue;jJ. 
mjd; kjpg;G Mz;LNjhWk; 4% FiwfpwJ vdpy; mjd; jw;Nghija kjpg;igf; fhz;f. 
a. 64510   b. 64150   c. 64512 

d. 64251   e. tpil njhpatpy;iy 
 

89. Which of the following is true? 
a. A B A B− =    b. A B A B− =    c. ( )A B A B   =   

d. ( )A B A B   =    e. Answer not known 
fPo;fz;ltw;wpy; vJ rhp? 
a. A B A B− =    b. A B A B− =    c. ( )A B A B   =   

d. ( )A B A B   =    e. tpil njhpatpy;iy 

 
90. _____ is the ratio of Helium-Neon mixture in the He : Ne Laser. 

a. 1 : 5  b. 5 : 1  c. 1 : 10 d. 1 : 1  e. Answer not known 
He : Ne Nyrhpy;> `Pypak; kw;Wk; epahd; fyitapd; tpfpjk; ____ MFk;. 
a. 1 : 5  b. 5 : 1  c. 1 : 10 d. 1 : 1  e. tpil njhpatpy;iy 
 

91. Find the simple interest on Rs. 25,000 at 8% per annum for 3 years? 
a. Rs. 4,500   b. Rs. 5,000   c. Rs. 5,500 
d. Rs. 6,000   e. Answer not known 
&. 25,000 f;F 8% tl;b tPjj;jpy; 3 Mz;LfSf;F jdptl;b fhz;f. 
a. Rs. 4,500   b. Rs. 5,000   c. Rs. 5,500 
d. Rs. 6,000   e. tpil njhpatpy;iy 
 

92. If Rs. 1,600 is divided among A and B in the ratio 3 : 5 then, B’s share is  
a. Rs. 480   b. Rs. 800   c. Rs. 1,000 

d. Rs. 200   e. Answer not known 
&. 1>600 njhifia A kw;Wk; B MfpNahh; 3 : 5 tpfpjj;jpy; gphpj;J nfhz;lhy; B d; gq;F 
a. Rs. 480   b. Rs. 800   c. Rs. 1,000 

d. Rs. 200   e. tpil njhpatpy;iy 
 

93. For every 12 Mangoes that I buy, 3 turn out to be rotten. At this rate, how many rotten 
mangoes will I have if I buy 100 mangoes? 
a. 24  b. 15  c. 25  d. 35  e. Answer not known 
ehd; thq;Fk; xt;nthU 12 khk;goq;fspy;> 3 mOfpg; Ngha;tpLk; vdpy; ehd; 100 
khk;goq;fis thq;fpdhy; vj;jid mOfpa khk;goq;fs; ,Uf;Fk;? 
a. 24  b. 15  c. 25  d. 35  e. tpil njhpatpy;iy 
 

94. The LCM of two numbers is 6 times their HCF. If the HCF is 12 and one of the numbers 
is 36, then find the other number 
a. 8  b. 48  c. 16  d. 24  e. Answer not known 
,U vz;fspd; kP.ngh.k. (LCM) MdJ kP.ng.fh. -tpd; 6 klq;fhFk;. kP.ng.fh 12 kw;Wk; 
Xh; vz; 36 vdpy; kw;Nwhh; vz;izf; fhz;f. 
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a. 8  b. 48  c. 16  d. 24  e. tpil njhpatpy;iy 
 

95. L.C.M of x4 – 16, x2 – 4x + 4 is 
a. (x - 2)2(x + 2)(x2 + 4)  b. (x - 2)(x + 2)2 (x2 + 4) c. (x - 2)2 (x + 2)2 (x2 + 4) 
d. (x - 2) (x + 2) (x2 + 4)  e. Answer not known 
x4 – 16, x2 – 4x + 4 -,d; kP.ngh.k _____ MFk;. 
a. (x - 2)2(x + 2)(x2 + 4)  b. (x - 2)(x + 2)2 (x2 + 4) c. (x - 2)2 (x + 2)2 (x2 + 4) 
d. (x - 2) (x + 2) (x2 + 4)  e. tpil njhpatpy;iy 
 

96. The L.C.M of 148 and 185 is 
a. 690  b. 760  c. 1010  d. 740  e. Answer not known 
148> 185 vd;w vz;fspd; kPr;rpW nghJ klq;F (kP.ngh.k) 
a. 690  b. 760  c. 1010  d. 740  e. tpil njhpatpy;iy 
 

97. HCF of 24x2 y3 and 16 x3 y4 is 
a. 23 x3 y2   b. 32 x3 y2   c. 23 x2 y3 

d. x3 y2   e. Answer not known 
24x2 y3 kw;Wk; 16 x3 y4 d; kP.ngh.fh ____ MFk;. 
a. 23 x3 y2   b. 32 x3 y2   c. 23 x2 y3 

d. x3 y2   e. tpil njhpatpy;iy 
 

98. If (x - 6) is the HCF of x2 – 2x – 24 and x2 – kx – 6 then the value of K is  
a. 3  b. 5  c. 6  d. 8  e. Answer not known 
x2 – 2x – 24 kw;Wk; x2 – kx – 6 apd; kP.ngh.t. (x - 6)  vdpy; K apd; kjpg;G 
a. 3  b. 5  c. 6  d. 8  e. tpil njhpatpy;iy 
 

99. Find the value of 63% of 
4

3
7

 

a. 2.25  b. 2.40  c. 2.50  d. 2.75  e. Answer not known 

kjpg;G fhz;f : 
4

3
7
 ,d; 63% 

a. 2.25  b. 2.40  c. 2.50  d. 2.75  e. tpil njhpatpy;iy 
 

100. Ranjith’s total income was Rs. 7,500. He saved 25% of his total income, find the amount 
saved by him 
a. Rs. 2,500   b. Rs. 1,875   c. Rs. 5,625 
d. Rs. 5,000   e. Answer not known 
,uQ;rpj;jpd; khj tUkhdk; &. 7>500 mjpy; 25% I Nrkpj;jhh; vdpy; mth; Nrkpj;j 
njhif 
a. Rs. 2,500   b. Rs. 1,875   c. Rs. 5,625 
d. Rs. 5,000   e. tpil njhpatpy;iy 


